bugku ctf 72T &5

217 o F 2019-05-17 20:5020 K A o 1169 ﬁ R 3

SRER: bugku I X EARE: BHBRE KM%

WA B : ASC R EREAICE, S CC4.0 BY-SA FRIUY, i b E SO ab s mA s,
ASCHEREE: httpsy/blog.csdn.net/qq42777804/article/details/90300252

? Eg

29 F3CE 1T
T ERE

Challenge 4095 Solves

[R5
50

Flag Submit

T

=12.png

T EREANTEH BN &EAS)


https://blog.csdn.net/qq_42777804
https://blog.csdn.net/qq_42777804/category_8995881.html
https://so.csdn.net/so/search/s.do?q=%25E5%259B%25BE%25E7%2589%2587%25E9%259A%2590%25E5%2586%2599&t=blog&o=vip&s=&l=&f=&viparticle=
https://so.csdn.net/so/search/s.do?q=%25E9%2595%25BF%25E5%2592%258C%25E5%25AE%25BD&t=blog&o=vip&s=&l=&f=&viparticle=
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/qq_42777804/article/details/90300252
https://blog.csdn.net/qq_42777804/category_8995881.html

B

A winhex3T 7

angl

off=et o1 = 3 7 g8 % & B C AMGBT ASCIT

00000000 89 50 4E 47 (0D OA 1A OA 00 00 00 OD 49 48 44 52 IHDR

D00 GEGddg,. (00 00 01 F4[00 00 01 A4 | @& 06 00 00 00 CB D& DF 5 = EOG
00000020 lmrn-n—n-n—n-nJ 09 70 48 59 73 @000 12 74 oo oo 1z & pHY=s  t

(EE) \ANF489 50 4E 47 0D 0A 1A OAKpngHI ST 3k
(EE) PUAE00 00 00 0D ARFEHHE B K R13
(Fl5E) WA54549 48 44 52 (B HASCIFGHIIHDR) &30 sk $idf Heftihzm (IDCH)
(AT48) 13fr%Esk (IHDR)
- AR ZE % 000001 F4
- EANFHARRZE KR 000001 A4

BRMNFBEING

i M 5N F4

9|

ffset 0 1 2 3 4 a7 g 9 A B C D E F AMNST
gooooao 8% 50 4E 47 0D 0A 1 oA 00 00 00 OD 49 48 44 52  %ENG
gooolao o0 00 01 F4 00 OO0 01 FE 08 0s 00 00 OO0 CB LA DF & &
gooozZao gAa 00 00O 00 0% 7O 48 59 73 00 00 12 74 00 00 12 & pHYs

oooozo 74 01 DE &6 1F Y8 00 00 0OA 4D 69 43 43 50 50 88 t EBf = M:

JE¥% ctri+s REEN
raBEERR RUEFEET WA Tflag



L

"N I EEEEEENEBER
iy

B B B BB EEEEEEEDN
B B B BB EEEEEEEDN
.I.I.I.‘I.I.I.I.I.I.I.I.I

=
o

Challenge

E

- H B H EE

-
> .

F|

e

- ]_H.I.I.I.I.I.I.I.I.I.I

e

e e

|| I EEEEEEEER

I. .I.I.I.I.I.I.l.l.l.l.l
1

Hl-— i N'F9%580808
i e LA W N B N

e Pl o i . el T80

-

r

4096 Solves

[R5
50

Submit

Correct




	bugku ctf 杂项 隐写

